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m;=100. MeV (mass 1)
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m;=140. MeV (mass 2)
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m;=240. MeV (mass 5)
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m;=310. MeV (mass 8)

0 L ‘ ‘ 4
2t b
—4} K .- ]
—6| ., ﬂ'.

r 'fiiI} };}EIQMIIIEE} {Eif. 1
87 ..u -'. ]
-10 * ..g. .... *
, ;o
" . ot ;
0‘ ‘IOHHZOH"30“”40””50””60‘
t
m;=380. MeV (mass 11)
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m;=180. MeV (mass 3)

m;=270. MeV (mass 6)
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m;=330. MeV (mass 9)
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m;=416. MeV (mass 12)
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m;=556. MeV (mass 15)
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m;=590. MeV (mass 16)
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m;=690. MeV (mass 19)
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m;=640. MeV (mass 17)
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m;=710. MeV (mass 20)
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m;=1000. MeV (mass 23)
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m;=2800. MeV (mass 26)
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m;=3050. MeV (mass 29)
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m;=670. MeV (mass 18)
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m;=740. MeV (mass 21)
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m;=1600. MeV (mass 24)
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m;=2900. MeV (mass 27)
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